Splashlearn

Shopping Division

Solve the following word problems.

John bought 450 oranges for his juice shop. He
wants to divide them equally into 25 baskets. How
many oranges will there be in each basket?

Sarah has 500 dollars. She wants to buy dresses
that cost 20 dollars each. How many dresses can
Sarah buy?

A grocery store has 600 apples. They want to pack
them in boxes of 30. How many boxes will they
need?

A toy store received 780 toys. They want to
distribute them equally into 26 shelves. How many
toys will there be on each shelf?

A book store has 840 books. They want to arrange
them on 28 shelves. How many books will be there
on each shelf?

A bakery made 540 cookies. They want to pack
them in boxes of 45. How many boxes will they
need?

A candy store has 630 candies. They want to
distribute them equally into 35 jars. How many
candies will there be in each jar?

8 A shoe store has 760 shoes. They want to arrange
them on 20 racks. How many shoes will there be on

‘beach rack?
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